
Tabela minimalnych czasów międzyzielonych. 

Założenia: VeL,P=30km/h,VePr=50km/h,VdPr=60km/h,VdL,P=40km/h,VePiesi=1,4m/s,VeRower=2,8m/s 

Nr 

grupy 

1K 2K 3P 4R 5K 6K 7K 8K 9K 10K 11P 12R 13P 14R 15P 16R 17P 18R 19P 20R 

1K -  5 5                 
2K  - 5 5                 
3P 4 4 -                  
4R 2 2  -                 
5K     -   4 4            
6K      - 2  4    5 5     6 6 
7K      8 - 5 6 4         5 5 
8K     5  5 -  7 5 5   7 6     
9K     7 4 5  -  7 6   5 5     
10K       4 2  -       5 5   
11P        4 3  -          
12R        2 0   -         
13P      4       -        
14R      2        -       
15P        3 4      -      
16R        0 2       -     
17P          4       -    
18R          2        -   
19P     3  4            -  
20R     1  2             - 

 

 

 

 

 

 

                                                                                                                                   

                                                          


